W0 YRID/T VYRT ORI XY ¥ X212 Noon M AT TIOY Y BT

21.2.11; 32a (» mawn) 2 33a (15w 50127 :7127 72 72 727 1K)

7210935 779 mpw < $AP XYM 2tY 15 21YN NYINY IRYD NND PII TRV 2NN RN D .
17100 0 779 X777 :DPNIR "N IR YN DNY NRY IRVD PR AR YR .
w2109 3 770 mow 72 103 PIOR N IWYR INTRD OY TR PIIN?Y 1YNY TAR NRY PR DR T2 .

v 2109 2 779 w0 S TNRIAN 93 MYRIM TINN N R T2 .
77109 35 79 p737:10Y DPH DPY NN HRYYDM TIT2 YOI 1YW IR PR 7900 DR ARIN XY .

I » mwn: further on locations obligating nTaR, nYvY NP9 NNXN
a  If:it was found in a barn (must be unprotected barn, else it’s Rv*wa), no liability — if in 1”3, liable
i pny 7 only inside the mynn
1 may be: in re: barn 1”01 even liable outside; may be: in re: 7”071 = barn isn’t liable even outside minn
b  if it was in a cemetery (and he is a 1n3) — he doesn’t defile himself to gather it
i and: if his father tells him to be Xnv>n or not to return it (i.e. to violate the law) — don’t heed him
ii  source: v.2 - all (parents and children) are obligated to honor 'n
1 justification: needed due to parallel of v. 4 (x"182) with v. 5 ('n T123) — X”10 honor parents nonetheless — 9"np
¢  Aryvr 719 must be done even several times as per aryn 2ty (see above)
i If: owner sat and considered that since the other will load/unload, he won’t help — exempt, as per my
ii  Apr191 7290 nye: there is a Mxn of Np™a but not NYYv
1 Challenge: v. 1 obligates np»9, but v. 5 obligates nyv
2 Answer: np™a must be done for free; n»yv may be done for a fee
iii Dissent: w™ -both are obligatory (meaning: just as np»a is for no fee, so too NPYv must be done pro bono)
1 Analysis: 1321 — if both are for free, no need to write np»9, as we would know that via yp from nryv
(a) Argument: np»a involves n”a qyx and financial loss (of animal); if nyv is an obligation —1"p 2 unloading
(b) Counter: ™ is unsure which verse refers to loading, which to unloading
(i) Explanation: 991 (v. 5) may mean — fallen next to load (n»yv) or fallen due to load (np»9)
d  Apr1vwith an oversized load: »"n - no obligation as per \Rwn nnn
I xa7: the status of n”a 1y¥ as inferred from our discussion
a  From both pnon and w™ —n”a 9yx is n"nn
i proof: mnn argue for 10wa NYY due to consideration of nN”ax in case of NP4, W™ agrees (if not for *!RIP M»”oON RY)
1 Challenge: perhaps the 1"p is the financial loss (only in np»1a but not nyv)
2 Block: nyyv also involves potential loss, if he delays getting to the »w or his goods are stolen before loaded
ii ~ Proof: mnan ‘s position contra »n" — even if the Xwn is too heavy, still unload >n”nn n"a 1y
1  Rejection: perhaps they disagree about meaning of ywwn nnn
iii ~ Counterproof: from ruling in nywn that if owner sits and doesn’t help, bystander is exempt
1 Rejection: perhaps he is exempt from unloading for free, but is obligated to unload for a fee
iv  Proof: ruling that we must help unload a non-5>%7> ’s animal as we do for a Y981v”’s
1 Rejection: that is due to n2>® (keeping civil relations) and not necessarily due to n”a qyx
v Counterproof: if (in above case) it involved 7o1 1 — not obligated
1 Rejection: that is in re: N1»v (not obligated to help him load 7o1 1)
vi  Counterproof: if it is a non-Y%7w ’s animal and a YR79’s load — may avoid helping
1 Rejection: that is in re: nyv (no n"a 9yx involved)
2 Challenge: inverse of ruling (x9°0) — obligated if it is a Y87w>’s animal and non-Y81’ ’s load — not nyyv!
(a) Answer: there, we have the 1px of the YR1v’ (owner of animal) who is probably the donkey-driver
(i) Challenge: the invoked words (n>1m and 2ryn a1y) are written in re: np™a
(if) Answer: that ruling follows 3" - whose position is that n”a 9yx is not n”nn
vii Counterproof: if you have a Rnw’s animal to load or a friend’s to unload — load x1’s to subdue your 171y
1 Rejection: subduing 1"n% takes precedence over n”a qyx
viii Counterproof: statement that "81w” means X1 who is YR1w (if n”nn n”a 7Yy, why distinguish?)
1 Answer: that is interpretation of mwn, not X1 in verse
ix  Counterproof: exegesis of a1 (v. 1) — but not if he always carries a heavy load
1 Answer: that follows 31, (n”nn 1RY N2 9Y¥) as per rest of Rn»71 interpreting wRwn as his usual load — 31>
(a) Challenge: can’t be »"n™ — since rest of Xn’»»12 must be interpreted as helping load 15wa
(i) Answer: »n" agrees with 1317 about 15w NYYY — (contra v™)
III  Parameter of liability for np»a — if you see, but encounter (within 1/7% of a 9n=1 v); but walk with it for a nv18 (4 »n) - 12v2
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